	987 + 100 =
	46 + 304 =
	468 – 9 =

	             = 936 + 285
	89,994 + 7,643 = 
	          = 435 – 30

	3.005 + 6.12 = 
	15.98 + 26.314 = 
	125.48 – 72.3 = 

	122,456 – 11,999 = 
	4 – 1.15 = 
	4/7 + 5/7 =

	3/10 – 1/20 = 
	1 4/5 + 3/10 = 
	1 ¼ - 1/3 = 

	30,000 – 400 = 
	7.3 + 0.5 = 
	143 – 9 = 


	8,493 + 2,142 =   
	949 + 100 = 
	1,062 + 493 = 

	325,226 – 37,492
	2q + 4 = 100. What is q worth?
	Jacob cuts 4m of ribbon into 3 pieces. The length of the first piece is 1.28m. The length of the second piece is 1.65m. What is the length of the third piece?



	Write 2 numbers to make the calculation correct:
                 +              = 19
Write 3 numbers to make this correct:
            +               +               = 19
	There are 20 balloons, 7 balloons fly away. How many are left?
	Amy has 21 counters altogether. She has 14 counters on one hand. How many does she have in the other hand?

	   10 -             = 2          
	Ben has 75 cherries. He eats 28 of them. How many does he have left?
	Write a digit in each box to make the sum correct

 7         +        =   8   3

	There are 40 crayons in a box. Sam takes out 17 crayons. Kemi takes out 10 crayons. How many are left in the box?
	Sam is collecting cards. He wants to collect 100 cards. Last week he collected 50 cards. This week he collected 30 cards. How many more cards does he need?
	Amy writes an answer to the calculation below
 57 – 31 = 26
Now write an addition to check Amy’s answer
            +               = 

	10 + 40 + 20 = 
	63 – 10 – 10 =     
	28 +           = 35


	8 + 6 =
	12 – 7 =
	52 + 7 = 

	4 + 5 + 6 = 
	50 +               = 80
	56 -           = 51

	69 + 11 =
	55 + 17 = 
	71 – 14 =

	15 + 3 + 3 = 
	36 + 24 = 
	87 – 40 = 



